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Let the circle 5 : 3Ex2 + 692 — 18Ex + 128y + C = @ be such thot it neither
intersacts nor touches the co-ordimote oxes. If the point of intersection of the
lines, = — Zy = 4 and 2x — ¥ = 5 lies inside the circle 5, then

QF-c<y
B 182 < C = 165
@ 5L < C < 156
& 183 <« L <« 156
Explanation

5 @ IEx® & 36y _ 18Ex + 128y + C = @

- X2 F ¥2 _ Jx+ Sy + S =0
Centre =1—g. —Ffi1=1(3.532)
radius = r =

-
WITE =

Mowm, point of intersection of = — 2y = 4 ond Zx — w = 5 1= (2, —1), which lies
inside the circle 5.

S(Z2, —1) = @
- (2 4+ (=137 — 2D + BW(-1) + £ < @

B

- 4 + 1 — B — W &

From (13 & {23

188 = C « 156 #Ans.



